Construction division. Advice for giving credit to contractors/suppliers.

Sl. No. – site bills register		146			Date - site bills Register			05/03/2022			
Company Name:			SOULLP			Site:			SOV-TP		
Name of	Contractor				et	Λ			-	001	
Nature of	work	1./0	Thirupathi Singh WPC door frames Carpentary work From Date 11/02/2022								
Work dor	ne	Fron	n Date	or t	rame	1/20	rpen	To Date	04/03/2022		
		Qty.		Rate		Units Amor				Contractors bill no	
1. Vi	llano: 141 t	0	,		33.6	2001	No's 33,		1000/-		
2.	145,160 to	,			-0,1	70 -			1	,	
3.	165										
4.											
5.											
6.											
7.											
8.											
9.											
10.									- 1		
11.		otal:						23			
Bill required		$\Box Y$	YES NO.			GST bill require		quired	- 0	YES	NO.
Measurement &		1	✓ Required			Measurement &			Enclosed		
estimate		☐ Not required				estimate sheet: PO/WO date:				Not e	nclosed
	PO/WO no.			FO/WO				Jace.			
Remarks	S:										
Approxed by Project Manager			er	Approved by Design Team			am A	Approved by M.D.			
Date:		CD Y		Date:			D	Date:			
Sign:	0 5 MAR 20	22		Sign:				S	ign:		

Notes: This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges each with 400 key civil contractors. 3. Wherever not applicable - fill NA. 4. Estimate and measurement sheets are not required to the contractors are clearly given.

ESTIN	MATE SHEET						
Company Name:		Silver Oak Villas LLP-III					
Project:		Silver Oak Villas-III					
Work	Description:	WPC Door frames Carpentry work V	illa no.141 to	145, 16	0 to 165		
Name	of the Contractor	Thirupathi Singh					
Prepar	ed By	Meenakshi					
Date:		05-03-2022					
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	Item Head Total
	11	Villas					
	Assembling of WPC Door Frame	es					
1	Main DOor	Assembling of WPC Door Frames	11.00	Nos	250.00	2,750.00	
2	Balcony	Assembling of WPC Door Frames	11.00	Nos	250.00	2,750.00	
3	Utility/Head Room/powder room	Assembling of WPC Door Frames	33.00	Nos	250.00	8,250.00	
4	Bathrooms	Assembling of WPC Door Frames	44.00	Nos	250.00	11,000.00	
5	Bedrooms	Assembling of WPC Door Frames	33.00	Nos	250.00	8,250.00	
					Total Amo	unt:	33,000.
		Amount: Thirty Three Thousand Ru	pees Only				



MEASU	JREMENT SHEET								
Company Name:		Silver Oak Villas LLP-III				Approve	d by:		
Project:		Silver Oak Villas-III				Sign:			
Work D	Description:	WPC Door frames Carpentry work	Villa no.141	to 145, 16	0 to 165				
Contrac	tor Name	Thirupathi Singh							
Prepare	d By	K.Purshotham							
Date:		05-03-2022							
S No.	Item Head	Item Description	Length	Width	Height	Nos.	Quantity	Units	Item Head Total
5	Assembling of WPC Door Frames	A STATE OF THE PARTY OF THE PAR							
	11	Villas							
1	Main Door	Assembling of WPC Door Frames	1.00	1.00	1.00	11.00	11.00	Nos	
	Villa no.141 to 145, 160 to 165.	And the second s							
2	Balcony	Assembling of WPC Door Frames	1.00	1.00	1.00	11.00	11.00	Nos	
3	Utility/Head Room/powder room	Assembling of WPC Door Frames	1.00	1.00	1.00	33.00	33.00	Nos	
4	Bathrooms/pooja room	Assembling of WPC Door Frames	1.00	1.00	1.00	44.00	44.00	Nos	
5	Bedrooms	Assembling of WPC Door Frames	1.00	1.00	1.00	33.00	33.00	Nos	
									132.0
	And the second of the second s								

Bill for Labour Charges

R Raja Chary Nagole Bandla Guda, Ajay Nagar colony Road No-2, Uppal, Rangareddy

Date:05-03-2022

In favor of:

M/s. Silver Oak Villas LLP

Project / Site:

Silver Oak Villas

Location:

Cherlapally

Type of Work:

Civil Work

Towards:

Allowance Equipment

S No.	Description	Amount
1.	Brief description of work done:	Amount
	Towards:-V no.141 to 145,160 to 165 Internal & Main Door Fixing	Rs.13,200/-
	Total Amount:- 33,000/	
	Work Done from date: 11.02.22 to date: 04.03.22.	

Amount in words: Thirteen Thousand Two Hundred Rupees Only/-

Bill for Allowance for Consumables

R Raja Chary Nagole Bandla Guda, Ajay Nagar colony Road No-2, Uppal, Rangareddy

Date:05-03-2022

In favor of:

M/s. Silver Oak Villas LLP

Project / Site:

Silver Oak Villas

Location:

Cherlapally

Type of Work:

Civil Work

Towards:

Allowance Equipment

S No.	Description	Amount
1.	Brief description of work done:	
	Towards:-V no.141 to 145,160 to 165 Internal & Main	Rs.13,200/-
	Door Fixing	
	Total Amount:- 33,000/	
	Work Done from date: 11.02.22 to date: 04.03.22.	

Amount in words: Thirteen Thousand Two Hundred Rupees Only/-

Bill for Allowance for Equipment

R Raja Chary Nagole Bandla Guda, Ajay Nagar colony Road No-2, Uppal, Rangareddy

Date:05-03-2022

In favor of:

M/s. Silver Oak Villas LLP

Project / Site:

Silver Oak Villas

Location:

Cherlapally

Type of Work:

Civil Work

Towards:

Allowance Equipment

S No.	Description	Amount
1.	Brief description of work done:	
	Towards:-V no.141 to 145,160 to 165 Internal & Main	Rs.6,600/-
	Door Fixing	
	Total Amount:- 33,000/	
	Work Done from date: 11.02.22 to date: 04.03.22.	

Amount in words: Six	I nousand Six Hundred	Rupees Omy/-	

Sign:	
-------	--